Jan Antell

Portfolio Management: Test I Retake
Time: Wednesday, 28 March 2018

Maximum points: 10.
Hanken’s calculator is to be used.

ALL calculations and/or explanations in ALL questions must be shown, unless explicitly stated
otherwise! Just the final answer, even if it is correct, might yield zero points. Underline or other-
wise highlight the most important parts of your answer.

Question 1.1 [4 points.] ,
The current stock prices of the companies Café Book and Headlands Ivory are USD160.00 and
USD42.0, respectively. Suppose the stock prices of the two firms follow a joint bivariate distribu-

tion given in the table below.

Probability End-of-period =~ End-of-period

' price (CB) price (HI)
10 % 180.00 $ 30.00 $
65 % 150.00 $ 48.00 $
25 %. 80.00 $ 72.00 $

a) Compute the expected returns and volatilities for the two securities, as well as the correlation
between them. [3 points.]

b) Suppose you are to construct a portfolio of the two stocks. Given the correlation coefficient
you calculated in a), what can be said about diversification benefits? Explain why!

[1 point.]

Question 1.2 [3 points.]
The following information on two securities, the market portfolio and the risk-free rate is offered:
Expected Correlation with ~ Standard
return (%) market portfolio  deviation (%)
Security A 10.00 0.80 18.00
Security B 9.50 0.60 30.00 fo: o
Market Portfolio 9.00 1.00 12.00 &
Risk-free rate 4.00 0.00 0.00

a) Wait a minute! There is something fishy about the numbers, at least if you assume that the
CAPM is true. Find the fish. Hint: Start by plotting the Security Market Line (SML) and in-
serting all four securities into the graph. [2 points.]

b) Further, suppose that the expected inflation is 3%. Compute the real return for all assets, given
the expected returns shown in the table.

Question 1.3 [3 points.]

True or false? Only answers with clear justifications will yield points.

a) Consider a three-year, EUR0.9 million investment with annual cash flows of EUR 360,000.
Statement: The internal rate of return is above 10 per cent.

b) A stock was bought at 7.50 euro. Three days later, the stock was sold at 8.10 euro. Statement:
The annualised return is less than 60,000 per cent.

¢) Consider the following portfolios: P1: E(R) = 5 % and ¢ = 10 %; P2: E(R) = 8 % and ¢ = 7 %;
P3: E(R) = 10 % and ¢ = 10 %; P4: E(R) = 10 % and ¢ = 15 %. Statement: Portfolios 2 and 3
are efficient, while portfolios 1 and 4 are inefficient.
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